
 Nerdy Gurdy 
Assembly instructions V6 

 

Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 

 

 
 
This manual describes how to assemble a version 6 Nerdy Gurdy kit. Go to http://www.nerdygurdy.nl for more 
info about these instruments. 
 
Jaap Brand 
The Netherlands 
October 2018/ January 2019 
 
 
General directions: 

¶ The parts are glued together with regular wood glue (not included in the kit). 

¶ 5ƻƴΩǘ ƎƭǳŜ ǘƘŜ ōǊƛŘƎŜ ƻǊ ŀƴȅ ǇŀǊǘ ǘƘŀǘΩǎ ŀŘƧǳǎǘŀōƭŜΦ 

¶ Make sure that all surfaces that touch are fully glued together. This prevents undesirable vibration when 
ȅƻǳΩǊŜ ǇƭŀȅƛƴƎΦ 

¶ When removing parts from the plate that are still attachedΣ ƛǘΩǎ ōŜǎǘ ǘƻ Ŏǳǘ ǘƘŜ ŀǘǘŀŎƘŜŘ Ǉƻƛƴǘǎ ǿƛǘƘ ŀ ǎƘŀǊǇ 
knife, to avoid splintering. 

¶ Before gluing, it is wise to assemble the pŀǊǘǎ ǿƛǘƘƻǳǘ ƎƭǳŜΣ ǎƻ ǘƘŀǘ ȅƻǳΩǊŜ ǎǳǊŜ Ƙƻǿ ǘƘŜȅ Ŧƛǘ ǘƻƎŜǘƘŜǊΦ ¸ƻǳ 
can assemble most of the instrument without glue, to get an idea of how the parts go together. 

¶ LǘΩǎ ōŜǎǘ ǘƻ ǊŜŀŘ ǘƘǊƻǳƎƘ ǘƘŜ ǿƘƻƭŜ ǎŜǉǳŜƴŎŜΣ ōŜŦƻǊŜ ǎǘŀǊǘƛƴƎΦ 

¶ If you do something wrong, it is possible to release wood glue by heating it (e.g. with a pressing iron) 
 
 
Please note: If you live in a very hot and/or humid climate you may need to take extra care with the type of wood 
glue that you use. Some glues may not be able to keep the required strength 

  

http://www.nerdygurdy.nl/


Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 2 

Parts Included in the kit 
 

wood sheet 3mm 4x  

 
sheet 6 mm 1x  

   

 

Loose parts Locking nut M8 1x  

 
nut M3 2x  

 
bolt M3 x 10 6x  

 Bolt m3 x 20 2x Optional, for new drone bridge 

 
Screw 2,5 x 13 4x  

 
Screw 3,5 x 17 8x  

 
spacer ring 8x  

 
Strip of felt 1x  

 
string holder blue 2x  

 
string holder yellow 2x  

 
bearing 4x  

 
bolt M2,5 (for tangents) 48x  

 
nut 8mm 10x  

 
Metal tuning pegs 6x  

 
wooden pegs 2x  

 
threaded rod M8 6,5cm 1x  

 
threaded rod M8 22cm 1x  

   

 

strings chantarelle low G (viola G) 1x  

 
chantarelle high G (viola A) 1x  

 
trumpet C 1x  

 
trumpet G 1x  

 
bourdon high C (cello G) 1x  

 
bourdon low G  (cello C) 1x  

   

 

printed parts knob 1x  

 
tangent high 28x  

 
tangent low 20x  

 
shaft nut 1x  

 
Bearing holder ring 2x  

 
strap pin 2x  

 
backplate glueing help 1x  

 
buzzing bridge support upper 1x  

 
buzzing bridge support lower 1x  

 
buzzing bridge 2x + spare  

 Upper trumpet edge support 1x  

 Drone support bushes 2x Optional, for new drone bridge 

   

 

Semi-Finished parts wheel     1x  

 
 
 



Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 3 

 
 

 
 
 
 

Not included in kit 
You will need the following materials to build your Nerdy Gurdy (not included in the kit): 

¶ Wood glue  

¶ (retractable) knife 

¶ A number of glueing clamps 

¶ Varnish (optional, but recommended) 

¶ Sand paper 

¶ Some tools (screw drivers, 13 mm spanner, etc.) 

¶ Some basic woodworking skill and patience :) 

 

 

  



Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 4 

Glue the borders to the top and bottom of the Nerdy Gurdy 
 

 
 
 
Notes: 

¶ In contrary to version 5, these parts are all symmetrical. 

¶ The two borders are symmetric and identical 

¶ Make sure that the parts are nicely centered. You can use mating parts to check alignment (picture below) 

¶ You can use some books to press the parts together 

¶ There should be a plate thickness all around the glued-on ridge 
 

   
 

  



Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 5 

!ǎǎŜƳōƭŜ ǘƘŜ ΨƘŜŀŘΩ 
 

   
 

   
 

   
Head 

 



Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 6 

 
 
 
 

Glue the front bearing support together 
 

 
Front bearing supportΩ 

 
 

  



Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 7 

Mount the head, pillar and rear between the top plate and bottom plate. 
 

   
 

   
 

   
 



Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 8 

 
 
Notes: 

¶ Make sure that the opening at the rear side is at the top of the Gurdy (red circle). 

 

Front bearing 
 
LǘΩǎ ŜŀǎƛŜǎǘ ǘƻ ƛƴǎǘŀƭƭ ǘƘŜ ŦǊƻƴǘ ōŜŀǊƛƴƎ ōŜŦƻǊŜ ȅƻǳ ƛƴǎǘŀƭƭ ǘƘŜ ǎƛŘŜǎ ƻŦ ǘƘŜ ƛƴǎǘǊǳƳŜƴǘΣ ōǳǘ ƛŦ ȅƻǳ ƘŀǾŜ ŀ ƭƻƴƎ 
screwdriver and some patience, you can also do it after the sides have been glued in place. Below is a picture of 
how it needs to be placed 
 

 
 



Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 9 

Mount the sides, starting from the head 
 

   
 

 

Notes: 

¶ ¸ƻǳ Ŏŀƴ ƎƭǳŜ ǘƘŜ ǇŀǊǘǎ ƛƴ ǎǘŜǇǎΣ ƛŦ ȅƻǳ ŘƻƴΩǘ ƘŀǾŜ ŜƴƻǳƎƘ ŎƭŀƳǇǎ όƭƛƪŜ ƳŜύΦ 

¶ Make sure that tabs are fully inserted into the slots. 

¶ Make sure that all surfaces are glued together well, especially at the rear of the instrument. This is 
necessary to resist the force of the strings. 

 

  



Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 10 

 

Install the bridge 
 

  
 

¶ ¸ƻǳ ŘƻƴΩǘ ƴŜŜŘ ǘƻ ƎƭǳŜ ǘƘŜ ōǊƛŘƎŜΥ ƛǘ Ƴŀȅ ōŜ ƴƛŎŜ ǘƻ ōŜ ŀōƭŜ ǘƻ ǊŜǇƭŀŎŜ ƛǘΦ  ! spare part is included. 
 
 
 

Assemble the machine heads 
 

   
 ¸ƻǳΩƭƭ ƴŜŜŘ ǘƻ ŀŘŘ ǘƘŜ ŜȄǘǊŀ ǿŀǎƘŜǊǎΣ ǘƻ ǘƘŜ ǘƛƎƘǘŜƴŜŘ ƻƴ ǘƘŜ ǿƻƻŘ  



Nerdy Gurdy assembly instructions CC BY-NC 3.0 Jaap Brand, 2019-01-21 
 Page 11 

Assemble the tailpiece 
 

  
bƻǘŜΥ ȅƻǳ Ŏŀƴ ǳǎŜ ǘƘŜ ƭŜŦǘ ŀƴŘ ǊƛƎƘǘ ǇƭŀǘŜǎ ŀǎ ǘŜƳǇƻǊŀǊȅ ǎǇŀŎŜǊǎ όŘƻƴΩǘ ƎƭǳŜ ǘƘŜǎŜύ 

 

  
 

 
Notes: 

¶ Make sure that you insert the nuts, before you glue everything together. 
 
 
 


